Hon Alg 2  Bellwork  Friday, June 9, 2017
=3x? —12x+36  Find the x and y-intercepts, if any

1. Use this rational function: y =

x3 —9x
x-intercepts: y-intercepts:
2x2 —2x—12

2. Use this rational function: =
YT A+ 1200 — 1622 — 48x

Find points of discontinuity, if any, and classify them as Holes or Vertical Asymptotes.
Holes: Vertical Asymptotes:

Simplify each. Use absolute value symbols when necessary.
3. ¥162a°5% 4 4. 396x28y32714

5. Solve this rational equation: 6. Solve this radical equation:

x 47 __ _x+34 AT +3 = x

x+4  x—1 x2+3x—4

7. Rationalize each denominator. Simplify if possible. and simplify

a 12a b) 15

)
Y9a7b%¢ 9-J6

8. Write the equation of the Horizontal Asymtptote, if any.

4x2 + 5x =9 x3-6x2+7x-1 10x+7
a e b c _10x+/
) 2x3 +3 ) 3x2-9x+2 ) 5x24+x-11

9. Write the equation of the inverse relation.

5. ¥2;x-3+7
- 8
10. Write the equation of each.
a) b)
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1. Use this rational function: y =

L

.

2% - 2x =12

x3 —9x

<intercepts: y-intercepts:
‘ Y= ~lord NoN = k

Find the x and y-intercepts, if any

=3 (xt+¢) (x-2
X (xt3) (k-3

-2 (x> +ux~12)
X (x*==9)

iy (X3 #3272 Yx 12
X 43

2. Use this rational function: y =
4x* +12x3 -
Find points of discontinuity, if any, and classify them as Holes or Vertical Asymptotes.

16x2 —48x —— 2

Vertical Asymptotes:

Simplify each. Use absolute value symbols when necessary

3. 4/162a9b20 47 \/TZ c’{az“‘ +

X= 0,-3, %

5. Solve this rational equation:
X 7 _ _x+34 f_ -
Xx+4 T x-1 P+43x-4 X="b
L_____"_'
X (xi) 4 (x+1) x£3Yq
EZEC T o Ry AN Y

x(x=0) + 706ty = X43Y
X=X etk = x+39

N +Sx - = O
(\(+(o>(5( D——o

Zi‘ =l
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) e BHa l ( w

x= -l \‘,\

2 (X -3)(x+2)
Hx (x+3) (x+2) (k-2)
pPTS of A—lS({D’)'{"ﬂfﬂ&({ﬂq X=6,~3,%2

4. §96x%8y5%1 \/31 3 XLSi 32,19 3
27 =32

Lx}’z-sx ?] =L

6. Solve this radical equation:

J24-4x +3 =x X’;Sﬁ

(="  ——
'L'-{—q)( = Kz*(DX"‘C'
o = xr-wx ~I§

= (x -5)(x3)
xX= —% 1



7. Rationalize each denominator. Simplify if possible. and simplify
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8. Write the equation of the Horizontal Asymtptote, if any.
4x2 +5x -9 x3 —6x2+7x—1 10x+7
2) 5) 3x2 - 9x +2 9 5x2+x-11
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9. Write the equation of the inverse relation.
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10. Write the equation of each.
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